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Section A

Transliterate the following words (change the Greek letters into the letters we use to write
English)

© 0N A WNR

KALpoE
AaBupvBoc
‘Adppoditn
adnTkog
Xaog
Slayvwolg
Kataotpodn
BaktnpLa
KwAov

10. 6pulwv

Translate the following verbs

1
2
3.
4
5

TIAPOOKEVALEL
€06ehknoete
ENune

elol

€kaBevdopev

Section B

Translate the following sentences

1
2
3
4
5.
6
7
8
9

. Tov tn¢ Bgag tmmov Aapfavw

. Ta dwpa év tn oikla €0tV

OL TIOAELOL TOUG YEPOVTOG ATIEKTELVOY

ol Soulol To TTAoLoV TWw SECTIOTN TTAPACKEUACOUGLY
TELOE TOV OTPATNYOV TOLG CULLULOXOLG TILOTEVELY

ol pkpol atdeg AvdpeLOTEPOL OOV TWV VEAVLWY

0 ¢dulag S Tou motapou £Bn

Aapa O KPLTNE Toug Lwpouc BapBapouc KOAAOEL;

. Tov ouAov nupov AAAa alTov SLwKeLy oUK RBeAnoa

10. ol aioxpoL knpuKecg €i¢ TNV Balaccav Enecov

[Section A: 10 marks]

[Section B: 50 marks]



Section C
Read the passage and answer the questions on the adjacent passage. Use the vocabulary below.

€€ pev nuepag ol tou ‘Oducoswg £tatpol Toug tou HAou Boug Noblov. tn de €BSoun €6gAovieg mpog

tnVv’10aknv €émavepyeaBal, Amo tng vnoou anemAsuoayv. eUOUG 6 0 Zeug, O Twv Bewv BaaotAgug, Tov

HEYOV XELLWVA EMEUPE OTL TOLG TWV ETALPWYV £PYOLG WEYLoOn.

€neL Toutov £idg, 60’'08uaoeug gine: “oUdemote TNV €Unv yuvalka oYoual”. émetta 6 6 Beog TNV

vauV Tw Kepauvw StedBelpev. mavieg ot toug tou HALou Boug dayovteg dnebavov. 6 vootog alTolg

oUK V. VUV £XWV OUTE VauV oUTE £TaLpoug, 0 08ucogug Lovog V. €vvea &€ NUEPAC, TA KUUATA

avtov Sla ¢ Balaoong ébepev. tehog, 0 0Oduaaeug tnv tng KaAuwoug vnoov gidev. €neL mpog tnv

ynv adiketo, €5ofe Tw 'OSuaaoel TNV NG KAAng Beag oiklav {NTEL.

€€ = six

‘O6uaooeuc,'Obuooswg (m.) = Odysseus

£€Talpog, -ou (M.) = companion

‘HAwog, -ou (m.) = Helios (i.e. the god of the Sun)
Boug, Boug (m./f.) = cow, cattle

€00w = | eat N.B. £dpayov = | ate (strong aorist of £001w)
€B6opog, -n, -ov = seventh

€0ehovteg = present particple of €BeAw

18akn, -n¢ (f.) = Ithaca

énavepxeoBal = translate as ‘to go’ (the infinitive of émavepyopadt).
mAew = | sail

XELMWV, XELLWVOG (M.) = storm, winter

€ibe = he saw (strong aorist of opaw)

eine = he said (strong aorist of Aeyw)

oudemnote = never

opopal = | will see (future of of opaw)

énewta = then

Kepauvog, -ou (m.) = lightening bolt

SladBelpw = | destroy

navteg = translate as ‘all the men’

oUTE... oUTE = niether... nor

€xwv = present particple of éxw

vOooTOog, -ou (m.) = return

€Vvea = nine

KUMQ, KUpaTog (n.) = wave

depw = carry

tehog = finally

KaAvyw, Kaluyoug (f.) = Calypso

adketo = he arrived (strong aorist of ddikveopat)
£€60¢&e = It seemed good (aorist of Sokel + dative)
{ntew =1 seek



Questions

1. Line 1: what is the case of ‘nuepag’? Why is this case used? [2]
2. Line 1: what is the tense of ‘AoBlov’? [1]
3. Line 2: write down an adverb from line 2 [1]
4. Line 2: what is the case of ‘vnoou’? Why is this case used? [2]
5. Line 2: what is the tense of ‘anenAevoav’? [1]
6. Line 3: what is the number (singular or plural), gender, and case of ‘peyav’? [2]
7. Line 3: write down a 3™ declension noun in line 3 [1]
8. Translate lines 4-8 (émeL Toutov €idk... Beag oikiav INTeLV.) [30]

[Section C: 40 marks]

Total marks: 100



